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Explanations and answers to select questions

06. About omission of [‘s], and keeping only the apostrophe (‘) sign, the rules are as follows :
1. After all plural nouns ending in s, as in animals, houses, etc.

Whenever the last syllable of a singular noun (common or proper) begins and ends
in s as in Moses, Jesus, etc. So, Moses’ is correct and Moses’s is not. But, James’s is
correct and James’ is not. So, option (A) is the correct answer.

26. Option (C) is the correct answer, as it is a universal truth, it does not change tense
in the indirect speech.

32. Option (D) is the correct answer. It is the only option where ‘ch’ is pronounced as ‘K,
unlike in other options.

33. Option (B) is the correct answer. Errors/corrections appear in brackets : An ant is a
(an) insect but it’s (its) sting is painfull (painful) even for (a) bull.

Please note that this key is within the purview of
Oxford Advanced Learner’s Dictionary, published in 2014.
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